SHIVALIK PUBLIC SCHOOL
WORKSHEET-3
(UNIT -2)
CLASS IV
SUBJECT- ENGLISH

POEM- NOSES
Q1. Read the stanza and answer the questions:
“I looked in the mirror
and looked at my nose:
It’s the funniest thing,
the way it grows
Stuck right out where all of it shows
With two little holes where the breathing goes.”
1. Where is the speaker looking?
2. What does the speaker find funny about the nose?
3. What are the “two little holes” used for?

Q2. Write the rhyming words from the stanza above:
a. nose —

b. shows —

Q3. Match the words with their meanings:

Words Meanings
Mirror funny or strange
Funniest to take in air

Breathing a glass that reflects image



Q4. Answer the following questions:
1. Why does the poet feel that the nose is funny thing?

2. Why is your important for you?

CHAPTER- THE LITTLE FIR TREE
Q1. Read the passage and answer the questions:

Shetty the magician was returning home, when all of a
sudden it began to rain. It rained heavily. Shetty looked
around for shelter and saw a pretty little fir tree. He ran
towards it as fast as he could. Soon the rain stopped. Shetty
was happy that he did not get wet.

“Thank you, you have been kind to me, I would like to
reward you. Ask for four wishes and I will grant them,” said
the magician.

Answer the following questions:
1. Who was returning home?

2. What season was it?

3.Write the name of the chapter.

4. What did the magician do when he saw the fir tree?

Q2. Write meaning and frame sentences of the following
words:

Pretty, needles, gold

Q3. Circle the correct adjectives:

1.The little fir tree had (soft / hard / golden) needles.
2. The magician was (kind / rude / greedy).

3. The weather was (hot / rainy / cold).

Q4. Write the opposites of the following words:
1. light 3. love 5. wise
2. won 4. full



SHIVALIK PUBLIC SCHOOL
WORKSHEET-3

ANSWER KEY
(UNIT -2)
CLASS IV

SUBJECT- ENGLISH

POEM- NOSES

Q1. Read the stanza and answer the questions:
1. The speaker is looking in the mirror.
2. The speaker found the nose funny because of the way it grows.

3. The “two little holes” used for breathing.
Q2. Write the rhyming words from the stanza above:
a. nose — grows

b. shows — goes

Q3. Match the words with their meanings:

Words Meanings

Mirror a glass that reflects image
Funniest funny or strange

Breathing process of inhaling and exhaling

Q4. Answer the following questions:

1. The poet feel that the nose is funny thing because it grows
straight with the two little holes.

2.0ur nose is important for us to breathing.



CHAPTER- THE LITTLE FIR TREE

Answer the following questions:

1. Shetty the magician was returning home.

2. It was a rainy season.

3.The name of the chapter is The Little Fir Tree.

4. The magician took shelter under it when he saw the fir tree.

Q2. Write meaning and frame sentences of the following
words:

1. Pretty- beautiful
2. Needles — a small thin piece of metal with appoint at one end

3. gold- a precious yellow metal that is used for making coins,
jewellery etc.

Q3. Circle the correct adjectives:
1.The little fir tree had (hard ) needles.
2. The magician was (kind).

3. The weather was (rainy).

Q4. Write the opposites of the following words:
1. light- heavy

. won-lost

love-hate

full-empty

oA W N

wise-foolish



SHIVALIK PUBLIC SCHOOL
WORKSHEET-4 (GRAMMAR)
UNIT-2
CLASS IV
SUBJECT- ENGLISH

CHAPTERS- POSSESSIVE NOUNS, COLLECTIVE NOUNS, COUNTABLE
AND UNCOUNTABLE NOUNS

SECTION-B (WRITING)
Q1. Dialogue Completion: Teacher and Student

Instructions: Fill in the blanks with suitable words to
complete the conversation.

Teacher: Good morning, Rohan. Why are you (1)
today?
Rohan: Good morning, ma’am. | am sorry I am (2).1

missed the bus.

Teacher: It's important to be on time. Please try to come
(3) from tomorrow.

Rohan: Yes, ma’am. I will not be (4) again.
Teacher: Good. Did you complete your (95)?
Rohan: Yes, ma’am. Here is my notebook.

Teacher: Very good, Rohan. Keep up the good (6)!

Rohan: Thank you, ma’am!

SECTION-C (GRAMMAR)
Q.1 Do as directed-
1. Rewrite the sentences using possessive nouns.
a) The toys of the children
b) The bag of Anjali

c) The car of Mr. Sharma



d) The tail of the cat

e) The books of the boys

2. Choose the correct collective noun from the brackets.
a) A (fleet / team) of ships sailed in the sea.

b) The (crowd / herd) cheered loudly in the stadium.

c) A (pack / class) of wolves howled in the forest.

d) A (bunch / group) of musicians played on the stage.

e) A (swarm / troop) of bees buzzed around the hive.

. Write C for countable nouns and U for uncountable nouns
. water

apples

sugar

chairs

milk

a hr e hd =W



SHIVALIK PUBLIC SCHOOL
WORKSHEET-4 (GRAMMAR)
ANSWER KEY
UNIT-2
CLASS IV
SUBJECT- ENGLISH

CHAPTERS- POSSESSIVE NOUNS, COLLECTIVE NOUNS, COUNTABLE
AND UNCOUNTABLE NOUNS

SECTION-B (WRITING)
Q1. Dialogue Completion: Teacher and Student

Instructions: Fill in the blanks with suitable words to
complete the conversation.

Teacher: Good morning, Rohan. Why are you late today?
Rohan: Good morning, ma’am. [ am sorry. I missed the bus.

Teacher: It's important to be on time. Please try to come early
from tomorrow.

Rohan: Yes, ma’am. I will not be late again.
Teacher: Good. Did you complete your work?
Rohan: Yes, ma’am. Here is my notebook.
Teacher: Very good, Rohan. Keep up the good job!

Rohan: Thank you, ma’am!

SECTION-C (GRAMMAR)
Q.1 Do as directed-
1. Rewrite the sentences using possessive nouns.
a) The toys of the children- children’s toy
b) The bag of Anjali- Anjali’s bag



c) The car of Mr. Sharma- Mr. Sharma’s car
d) The tail of the cat- cat’s tail
e) The books of the boys- boys’ books

2. Choose the correct collective noun from the brackets.
a) A (fleet / team) of ships sailed in the sea.

b) The (crowd / herd) cheered loudly in the stadium.

c) A (pack / class) of wolves howled in the forest.

d) A (bunch / band) of musicians played on the stage.

e) A (swarm / troop) of bees buzzed around the hive.

. Write C for countable nouns and U for uncountable nouns
. water- C

apples- C

sugar- U

chairs-C

milk-U

a ke hd = w



Shivalik Public School
Worksheet - 2
CLASS -1V
Subject - Hindi
Unit - 2
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Answer key
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Shivalik Public School
Worksheet - 2
CLASS -1V
Subject - Hindi
Unit - 2
ST 94aTe 4971 5191
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ANSWER KEY
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WORKSHEET-1
CLASS - IV
SUBJECT - PUNJABI
UNIT -2
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WORKSHEET-1 (Answer Key)
CLASS - IV
SUBJECT - PUNJABI
UNIT -2
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SHIVALIK PUBLIC SCHOOL
WORKSHEET-2

CLASS - IV
SUBJECT - PUNJABI
UNIT -2
fenrggs
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SHIVALIK PUBLIC SCHOOL
WORKSHEET-2 (Answer Key)

CLASS - IV
SUBJECT - PUNJABI
UNIT -2
fenrags
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CLASS IV
SUBJECT- MATHS
UNIT -2
CHAPTER 2 LONG AND SHORT
WORKSHEET -2

1. Fill in the blanks.

(a)lem=__ m
(b)272cm=__ m
()1 km=__ _cm
(d)1/2m=___cm

2. Tick (V) the correct and cross (X) the incorrect answer.

(a) Points A and E are nearest to each other.

o

o

(b) Points A and B are farthest to each other.

(@]

(c) Points A and C are nearer as compared to points A and E.

(d) Points B and C are 2.1 cm away.

o

3. Choose the correct option in each of the following:

(a) In the Marathon race, the people have to run about:

(i) 40 m (i) 400 m (iii) 4 km (iv) 40 km



(b) A field is 600 m long and 400 m broad, then the perimeter of the field is:

(i) 1000 m (ii) 2000 m (iii) 10000 m (iv) 1600 m

(c) Which is greater?

(ij4mor4cm (ii)l m or 100 cm (iii) 1000 mm or 1 m  (iv)l km or 1000 m
(d) Which is closer to 4 m?

(i) 2.9 m (ii) 3.4 m (iii) 3.95 m (iv) 3.59 m

4. Match the following:

(a) 6m 7 cm (i) 5.40 m
(b) S m 40 cm (ii) 30.60 m
(c) Double of 15.30 m (iii) SO0 m
(d) Half of 1 km (iv) 607 cm

5. Rajni went to her office which is 3 km, and Reeta went to her office
which is 2 km 80 m away from their homes. Who covered mc distance
and by how much?

6. Solve:

(a) 7S m 45 cm + 95 m 60 cm =
(b) 18 km + 70 km 700 m =

(c) 219 m - 160 m 79 cm =

(d) 184 m 29 cm - 29 m 189 cm =

7. Latika covered 1 km 200 m by foot, 9 km 900 m by bus and 6 km 600
m by autorickshaw. Find the total distance covered by her.



Answer key

Q1.

(a) 1/1000

(b) 2.72

(c) 100000

(d) SO

Q2.

(a) X

(b) X

(c) v

(d) v

Q3.

(a) (iv)

(b) (ii)

(c) (i)

(d) (iii)

Q4.

(a)-(iv)

(b)-(i)

(c)-(ii)

(d)-(iii)

Q5. Rajni, 920 m
Q6.

(a) 171 m OS5 cm
(b) 88 km 700 m
(c) 58 m 21 cm
(d) 153 m 40 cm

Q7.
17 km 700m



Class IV
Subject Maths
Unit -2
Chapter -3 A Trip to Bhopal
Worksheet -3
1. Fill in the blanks:

(a) 5232 + = 5232
(b) 1267 + 135 + 120 = 120 + 1267 +
(c) +0 =765

(d) 252 + 326 =

(e) 442 + 126 + 350 =

(f) 7982 + 3798 = 3798 +

(g) 7999 + 5 =

(h) 526 + 109 + 10 = 109 + + 526
(i) 1420 + 0 =

2. Write the appropriate number in the box:

(a) 267 + 34 =45+ ___

(b) 82 +96 =56 + ___

(c) 1261 + ___ = 905 + 356
(d) 9561 + 281 = 7569 + ___

3. Which number is:

(a) 460 more than 75,186 =
(b) 692 more than 8,512 =

(c) 682 more than 9,345 =

(d) 8,259 more than 92,616 =

4. Tick (V) for the correct and cross (X) for incorrect answer:

(a) The greatest number formed (without repeating digits) using O, 1, 2, 8 is:
(i) 1028 (ii) 1280 (iii) 8210 (iv) 8120

(b) The number which is exactly in between 20 and 80 is:
(i) 20 (ii) 80 (iii) 45 (iv) 50

(c) Which number is divisible by 2, 3 and 5?
(i) 25 (ii) SO (iii) 37.5 (iv) 30



5. Match the following:

Items Options
A bus can carry 50 students. For 200 students, number of .

(a) (i) 9
buses needed
If a number is increased by 6, it becomes exactly double. So, ..

(b) . (ii) 3
the number is

(c) The greatest digit in 9879 is (iii) 9

(d) 200 less than 203 is (iv) 3

6. Find the sum of 420, 609, and 35 tens.

7. Mrs. Rajni visited Singapore. She spent 314,500 on hotel, 312,400
on shopping, and 315,450 on travel. How much did she spend
altogether?

8. Mrs. Kanchan goes for morning walk. She walks 750 m on 1st day,
875 m on 2nd day ,925 m on 3rd day , 975 m on 4th day . Find the
total distance covered in 4 days.

9. Suppose 100 children are going to an adventure island. 4 buses
are available, each having 25 seats. Is it possible all children will get
seats?



Answer Key
1. Fill in the blanks:

(a) O

(b) 135
(c) 765
(d) 578
(e) 918
(f) 7982
(g) 8004
(h) 10
(i) 1420

2. Write the appropriate number:

(a) 256
(b) 122
(c) O

(d) 2273

3. Which number is:

(a) 75,646
(b) 9,204
(c) 10,027
(d) 100,875

4. Tick (V) or Cross (X):

(a) (iii) 8210
(b) (iv) 45
(c) (iv) 30

5. Match the following:

(a) — (idi)
(b) — (iv)

(c) — (i)
(d) — (ii)

6. 1379
7. Total spend =342,350
8. Total distance =3525 metres

9. Yes, all will get seats.



Shivalik Public School
Class 4
Subject - Evs
Worksheet (Unit -2)

Q1. Fill in the blanks -
a) Amrita lived in ___ village.
b) Anita bought __ boxes for keeping bees.
c) Children would play for hours in the ___ of the trees.
d) The Khejadli village got its name from ___ trees.
e) Anita went to collegeona
Q2. State True or False-
a) Anita does not want to go to school.
b) Anita used to greet trees in the morning.
c) The king gave orders to not cut trees.
d) The lichi trees flower in the month of February.
e) Honey bees lay eggs in the month of October to November.
Q3. Answer in one word/sentence-
i) Name the village where Amrita lived?
ii) Which flowers are mostly visited by honey bees?
iii) What did Anita do as a child, and what did she wish to do?
iv) Name the vehicle Anita learnt in secret.
v) Who came to Khejdali village and why?
Q4. Answer the following two to three sentences -
i) What was the teaching of the elders of Khejdali village?
ii) Why were Anita’s parents not willing to send Anita to school?
iii) Why was the king affected strongly?
iv) How did Amrita save the trees?

Answer key-
Q1. a) Khejadli
b) two

c) Shade

d) Khejadi

e) bicycle

Q2. a) False

b) True

c) False



d) True

e) True

Q3. i) Khejadli village

ii) Bright and fragrant

iii) As a child, Anita used to graze goats. She wished to go to school and
get an education.

iv) Motorcycle

v) King’s men to cut trees

Q4 i) ‘Ped hain toh hum hain’.

ii) Anita’s parents were not willing to send her to school because they
were very poor. They thought that girls were meant to stay at home and
do household work.

iii) The king was strongly affected by the feelings of villagers for trees and
animals.

iv) Amrita hugged the tree and stopped the king's men to cut it.





